University of B¢

Subject: Final Course

dm
Accounting Exam, 2022/ 2023 College of'A
Theory for PhD & Economics
Date: Accounting Dpt

Q1:- What is your impressing and your perception about the limitations of traditional
accounting for leases?

Q2:- What is the relationship between positive economic and accounting, how
the accounting theorists employed this approach. Discuss this issue by using your
readings.

Q3:- Why the accounting theorists have a shortcomings in their approaches to study
accounting and produce theories? Discus that by focusing on suitable readings.

Q4:- What is the communication theory and what is the linking with measurement theory
in accounting?

Q5:- What do you think about the future horizons of accounting theory?

Q6:- Why FASB adopted the assets and liabilities view as the bases for building
Conceptual framework? Discuss that based on your readings, for example: Johnson,

2004. .

Q7:- Do you think Accounting created capitalism or capitalism created accounting? What
is your opinion, support it by using your readings?

With best regards

Lecturer
Dr. Suhail Al tamimi %
Head of Department

Dr. Elham Al Shawe ;Auﬂ@éﬁ‘)"'{
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Q// 1 erte an Artlcle about BLOK CHAIN and BIG DATA use challenges arld

Opportumtles S (10 mark) |

l. b o

' Ve l' ' ‘e
Q//_2 IT is an Important factor in the design and Implementat1on of Aceountmg
Information systems . Explain HOW IT IMPACT ON |

1- Organization Culture.. Lol i

2- Flexibility.: | : ." | c

3- Quallty of Informatlon - (14 mark)

b1 4

QI3 INTEGRATION and- INTEDEPENDEN CE are very Important DISCUQ
The dlfference between them in Accounting Informatlon Systems and the1 ll

Impact on company performance ( lO marks) ll
' Q//4 What 1s the Relevance of REA on-Accounting Work. (10 marks) !
- Q//5 ANSEWER only 4 from the followmg
1- DATA security and Quality. !
2- Fraud and Internal control .
3- SARBANES OXLEY and IT Govemance |
4- Relational Databases. ;
5- Impact of Expert systems on Enhanomg the general controls . l
6- Computerlzed Accountlng Informat1on Systems ( 16 mark)
i
Q//6 CLOUD COMPUTING is anew IT . Discuss the effects cloud computlno I
- The Accountlng and Auditing profession. ( 10 mark s
HEAD o epartment : Letch
Dr Elham Jafer Hemmed mprvey Dr. Fatima Jasim Mohammed '
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Q1/-Explain how costs are managed within the company's value chain ?

: "" J o !

’,n',v' . % K
4 l

*Q2/ How to measure c‘sts and manazge the relatlonshup W.lth customers ?

LRI TN |

Q3/ What is the effect of management accountlng techmques on the flnancral
: ) , . :

performance of mdustylal compames?

i

Q4/ what is kalzen costlng, just in time, ‘and what isthe difference between

them7 ; .-",'. . ) ' ke ’ S
i ) e i 7 e 3 )
. "":." . ‘ y

.Q5/ What is the role of ABC based on thr0ughput acf:ountlng in prowdmg

: mformatlon to management? AR
$: '., . ",' - \ :

Q6/ The manager would like to know the proﬁtabullty of their products,

customers and other busmess segments to.kno

Discuse ?
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w which of them to drop or add.
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Ql// You are a CPA in a regional public accounting firm that has 10
offices in three states. Mr. Shine has approached you with a request for an
audit. He is president of Hitech Software and Games Inc., a five-year-old
company that has recently grown to $500 million in sales and $200 million
in total assets. Shine is thinking about going public with a $25 million issue
of common stock, of which $10 million would be a secondary issue of
shares he holds. You are very happy about this opportunity because you
know Shine is the new president of the Symphony Society board and has
made quite a civic impression since he came to your medium-size city
seven years ago. Hitech is one of the growing employers in the city.

Required:

a. Discuss the sources of information and the types of inquiries that you
and the firm's partners may make in connection with accepting Hitech as a
new client.

b. Do professional audit standards require any investigation of prospective
clients?

c. Suppose Shine also told you that 10 years ago his closely held
hamburger franchise business went bankrupt, and on investigation, you
learn from its former auditors (your own firm in another city) that Shine was
fraudulent in its application of franchise-fee income recognition rules and
presented such difficulties that your firm resigned from the audit (before the
bankruptcy). Do you think the partner in charge of the audit practice should
accept Hitech as a new client?




Q2// Oak Industries, a manufacturer of radio and cable TV equipment and
an operator of subscription TV systems, had a multitude of problems.
Subscription services in a market area, for which $12 million of cost had
been deferred, were being terminated and the customers were not paying
on time ($4 million receivables in doubt). The chances are 50-50 that the
business will survive another two years. An electronic part turned out to
have defects that needed correction. Warranty expenses are estimated to
range from $2 million to $6 million. The inventory of this part (310 million) js
obsolete,but $1 million can be recovered in salvage, or the parts in
inventory can be rebuilt at a cost of $2 million (selling price of the inventory
on hand would then be $8 million with 20 percent of the selling price
required to market and ship the products, and the normal profit expected is
5 percent of the selling price). If the inventory were scrapped, the company
would manufacture a replacement inventory at a cost of $6 million,
excluding marketing and shipping costs and normal profit. The company
has defaulted on completion of a military contract, and the government is
claiming a $2 million refund. Company attorneys think the dispute might be
settled for as little as $1 million. The auditors had previously determined
that an overstatement of income before taxes of $7 million would be aterial
to the financial statements. These items were the only ones left for audit
decisions about possible adjustment. Management has presented the
following analysis for the determination of loss recognition:

Write off deferred subscription costs $ 3,000,000
Provide allowance for bad debts 4,000,000
Provide for expected warranty expense 2,000,000
Lower-of-cost-or-market inventory write-down 2,000,000
Loss on government contract refund 2?°°?°°?
Required:

Prepare your own analysis of the amount of adjustment to the financial
statements. Assume that none of these estimates have been recorded yet
and give the adjusting entry you would recommend. Give any upplementary
explanations you believe necessary to support your recommendation.




Q3// Consider the following scenario:

Adam worked for the local hardware store as an outside sales
representative. His job was to visit local companies and contractors in an
attempt to identify their needs for tools and materials and provide a bid to
supply those items. When a local contractor accepted a new job,Adam
would get its material requirements, come back to the store, and prepare
and submit a proposal for the items. After some initial success with Big
Builder, a large contractor, the number of jobs awarded to Adam had
decreased dramatically One day Adam was back at the store after losing
a bid to Big Builder when he noticed someone in the store purchasing the
exact items and quantities that were in the specification for that bid. The
combination of items was unusual and it would be an unlikely coincidence
for someone else to want such a combination in that exact quantity. The
customer paid the retail price for the merchandise and left.

Adam decided to contact Big Builder, but he knew he could not do so and

make any accusations. Adam set up a meeting with the president of Big
Builder and inquired as to how Adam might “increase his business and
better meet the needs of Big Builder.” Eventually,the recent bid entered the
conversation. Adam showed his copy of the bid to the president.
The president retrieved a copy of the purchase order and recognized that
the amount on it was more than the bid Adam had submitted. The company
that submitted the bid was K. A.Supplies Inc. Adam had never heard of K.
A. Supplies and noted its address on the purchase order. The president of
Big Builder promised to investigate the bidding process.

Adam drove to the address of K. A. Supplies and found a packaging and
shipping store at that address. Furthermore, Adam went to the county
courthouse and inquired about K. A.Supplies. The company was listed in
the county records and one of the purchasing agents for
Big Builder was listed as an officer.

Required:

a. Given the information that Adam knows, what do you believe is occurring
at Big Builder?

b. What other information would you want to obtain and how might you
retrieve that information?

c. What controls might be instituted at Big Builder to prevent improprieties
in the bidding and purchasing process?



Partners Clark and Kent, both CPAs, are preparing their audit plan for the
audit of accounts payable on Marlboro Corporation’s annual audit.Saturday
afternoon they reviewed the thick file of last year's documentation and they
both remembered too well the six days they spent last year on accounts
payable.

Last year, Clark had suggested that they mail confirmations to 100 of
Marlboro’s suppliers.The Company regularly purchases from about 1,000
suppliers and these account payable balances fluctuate widely, depending

with large balances. In fact, the 100 accounts confirmed last year covered
80 percent of the total dollars in accounts payable. Both Clark and Kent
had spent many hours tracking down minor differences reported in
confirmation responses. Nonresponding accounts were investigated

by comparing Marlboro’s balance with monthly statements received from
suppliers.

Required:

a. lIdentify the accounts payable audit objectives that auditors must
consider in determining the audit procedures to be performed.

b. Identify situations when auditors should use accounts payable
confirmations and discuss whether they are required to use them.

c. Discuss why the use of large dollar balances as the basis for selecting
accounts payable for confirmation is not the most effective approach and
indicate a more effective sample selection procedure that could be followed
when choosing accounts payable for confirmation.



Qs5/

You have been engaged to audit the financial statements of Hardy
Hardware Distributors Inc., as of December 31. In your review of the
corporate nonfinancial records, you have found that Hardy Hardware
owns 15 percent of the outstanding voting common stock of Hardy
Products Corporation.Upon further investigation, you learn that Hardy
Products Corporation manufactures a line of hardware goods, 90 percent of
which is sold to Hardy Hardware.

James L. Hardy, president of Hardy Hardware, has supplied you
objective evidence that he personally owns 30 percent of the Hardy
Products voting stock and the remaining 70 percent is owned by Juana
Hardy Lewis, his sister and president of Hardy Products. Hardy also owns
20 percent of the voting common stock of Hardy Hardware
Distributors,another 20 percent is held by an estate of which Hardy and
Lewis are beneficiaries, and the remaining 60 percent is publicly held. The
stock is listed on the American Stock Exchange.

Hardy Hardware consistently has reported operating profits higher than
the industry average. Hardy Products Corporation, however, has a net
return on sales of only 1 percent.The Hardy Products investment always
has been reported at cost and no dividends have been paid by the
company. During the course of your conversations with the Hardy
siblings,you learn that you were appointed as auditor because they had a
heated disagreement with the former auditors over the issues of accounting
for the Hardy Products investment and the prices at which goods have

been sold to Hardy Hardware.

Required:

Discuss the following.

a. Identify the issues in this situation as they relate to (1) conflicts of
interest and (2) controlling influences among individuals and corporations.
b. Should the investment in Hardy Products Corporation be accounted for
using the equity method? :

c. What evidence should the auditor seek with regard to the prices palq by
Hardy Hardware for products purchased from Hardy Products Corp_oratlon’?
d. What information would you consider necessary for adequate disclosure
in the financial statements of Hardy Hardware Distributors?

With best wishes
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Sub.: Economlc& Accountlng ‘Studies . - Date: -/ /2023 Time :3 H.

“Answer five questlons from the following. ! AT
_Q 1) Macroeconomlc pollcles revolve arounda' set of ‘indgcators that govern

| the performance of economlc operations and thus mo,_nitor:th'e movement of
. the economy. ThlS performance is done through two types of poiicies.,

. Required : | ' B ‘
.'1 Review these mdlcators :
2- Discuss expansnonary monetary pohcles
Q 2) Economlc stablhty in macroeconomic pohcles is consndered one of the
significant 1ssues lll ‘the application of monetary policy and ' stability in
-countries . Dlscuss this in the light of your study of the followmg paragraphs:
- 1) Indlcators of economlc stability
2) Efficiency of Monetary policy tools to achieve economlc stabnhty under the
ISLM. - 3
Q3) Economlsts _have strlven since the beginning of the first industrial
revolution to prov1de systematic explanations for the can__ses of growth, so very
diverse theornes have been proposed
Required :
1) Views of the Keynesnan theory of economlc growth

2) Views of the modern theory of growth .

Q4) There are some political factors that affect the taxpayer's tax
commitment and his behavior in paying the tax, which contribute to tax
Discuss the followmg «evasion .

.1- The most lmportant factors affecting the behavior of the taxpayer

2- Behavnoral attltudes of taxpayers towards taxes and tax authorities,
and factors affectmg taxpayer behavioral.



Q5 )Although both accounting income and taxable income are
prepared on accrual basns, there are sxgmﬂcant differences
between the two mcomes, including permanent ones. Discuss the
phrase in an accurate sc1ent1ﬁc manner..

Q6)With the use of mternatlonal ﬁnanc1al reportmg standards as. a
ﬁnancxal reportmg standard there will be a change in the ﬂnancxal
report and there may also be a change in the tax, especially for
multinational compames, ‘ ‘

Required: Analyze the effect of adopting mternatlonal financial

reporting standards on taxes.

- 'With Wishes of Succéss

e e 3
Prof. Dr .Nadwa Hilal Jowda Ass. P. Dr. Elham Al-Shawi
The lecturer ~ Head of Department
T
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University of Basrah o Subject : Managerial & Economics Studies
College of Admin & Economics Program: MSc. in Accounting
Accounting Dept. Time :3 Hours
Date : 16 May 2023
Final Exam —First Attempt 2022-2023
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Q4: According to England’s article , explain the main entrepreneurial strategies for
making living through passionate work. Explain based on Soubliere and Lockwood’s
perspective, the actor —audience interface, and cultural competences which are considered
as an essential dimension for building strategies toward rallying support for
entrepreneurial endeavor.,

(12 Marks)

Q5:Explain the relationship between both platforms ,ecosystems and internationalization
of highly digitized organizations. Based on Markus Reitzig’s model, explain , in details

how organization can get better at flatter .
(12 Marks)

Q6: Discuss in details both disruptive innovation and creative . then summarize in table
the main types of thinking. According to Drucker’s article , explain the main sources of
innovation.

(11 Marks)
GOOD LUCK
(o, —
Dr. ML-Abrrow Dr. Amjad Sabah Dr. Elham AL-Shawi

Examiner Examiner Head of Dept.



University of Basra
College of Economic and
Administration
Accounting Department |

Final Examination *_ SUB:A.LS:
4 ' Stage : M.S.R
Date: /5/2023

- .{_Q‘Z'

Second course

@ ) First Attempt
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Q/1:Discuss the following =

Information can be provided to both Internal and External users :so
give the differences between . : e g )
1- Mandatory information and discretionary information. it
2- Relevant information and Reliable information . _ - {(10marks) -

Ve

Q/2 give the differences between
1- Preventive control , Detective control and corrective control
2- Operational control, Management control and Strategic control. ( 10 marks)

Q//3The followg’ng documents are used in expenditure ¢ycle:

" Vendor invoice  ,Purchase order ,Disbursement voucher » Purchase requisition

,Packing slip , Receiving report , Check

- Required : - "
* 1- Identify which of these documents are internally generated and which are externally
. generated

2- For each internally generated document, how many copies are needed? What is the

~ purpose of each copy? Where does each copy g0 .

3- Draw the standard documents follow | i (ISmark) :

Q/4 Al- Rasheed com. Has hired you to review its internal controls for the

- purchase, receipt, storage, issuance of raw material . You observed the following

Do 9

1- Raw material , which consist mainly of high- cost electronic components, are kept -
in a locked storeroom . Storeroom personal include a supervisor and four clerks. Al] .

-are well trained , competent ,and adequately bonded .Raw materials are remove from
the storeroom only upon written or Orel authorization by a production supervisor.

2- No perpetual inventory records are kept; hence, the storeroom clerks do not keep
records for goods received or issued. To compensate ;the storeroom clerks perform a
physical



inventory count each month. The clerks supervised during this count, and other
appropriate procedures are followed.

3-After the physical count, the storeroom supervisor matches the quantities on hand
against a predetermined reorder level. If the count s below the reorder level, the
supervisor enters the part number on a material requisition list that is sent to the
accounts payable clerk. The accounts payable clerk prepares a purchase order for each
item on the list and mails it to the supplier from whom the part was last purchased.
4-The storeroom clerks receive the ordered materials upon their arrival . The clerks
count all items and verify that the count agree with the quantities on the bill of lading.
The bill of lading is then initialed, date, and filed in the storeroom to serve as a
receiving report.

Required : -

1- Draw the follow documents

2. Describe the weaknesses that exist in Expenditure cycle. ,

3- Suggest control procedures to overcome the weaknesses (15mark)

Q/5 Discuss in detail Fraud ( concept, triangle of fraud , fraudulent financial reporting
and the Auditor responsibility to detect fraud) (10marks)

Q/6 Explain the meaning fourth of the following concepts.

|- Block chain ,  2- Cloud computing 3- data mining ,
4- Databases
5- The value of information. ( 10 marks)
Leté]ller

Head ef’ﬁep. ’

Dr. Elham Jafer Hemmed Dr. Fatima jasim Mohammed
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Qltf_ Give the justification to use'SWAT technique in field of Management Accounting. ll
~Q2:- What are the differences and similarities betwéen Maliageﬁlént cohtrols systems, |
Accounting controls systems? 55 o : .
Q3:- For budgeting syst'gnis, what are the points we need to focus?
Q4:- Can you give your dpinion about the strategic role for management accounting
and what the main tools to enhance this mission or this role? (Use your readings)
Q5:- Novex Company keeps careful track of the time to complete customer orders:
During the most recent quarter, it recorded the following average times per order:

Days
CWait time .o veeneennnn 17.0 : ,: T .
Inspection time... ..... 0.4 | | ‘
_ Process time ......... “.2.0
Movetime......oocve .0.6
Queue time ........... 5.0 : :

Goods are shipped as soon as production is completed.

Required: 1. Compute the throughput (manufacturing cycle) time. 2. Compute the manufacturing cycle
efficiency (MCE). 3. What percentage of the production time is spent in non-value-added activities? 4.
Compute the delivery cycle time. '

Q6:- _Svalin, AB,isa Swedish manufacturer of sailing yachts. The company has
assembled the information shown below that pertains to two independent decision-

making contexts called Case A and Case B:

Case A: The Company chronically has'no idle capacity and the old Model B100 machine is the
company’s constraint. Management is considering purchasing a Model B300 machine to use in
addition to the company’s present Model B100 machine. The old Model B100 machine will continue to
_be used to capacity as before, with the new Model B300 machine being used to expand production.
This will increase the company’s production and sales. The increase in volume will be large enough to
‘require increases in fixed selling expenses and in general administrative overhead, but not in the fixed

manufacturing overhead.

i
1
i
i
i
i
!

Case B: The old Model B100 machine is not the company’s constraint, but management is considering
replacing it with a new Model B300 machine because of the potential savings in direct materials with
the new machine. The Model B100 machine would be sold. This change will have no effect on
production or sales, other than some savings in direct materials costs due to less waste.



r sheet and place an X.in the upproprhlﬂ'

%
Required: Copy the information below onto your anywe
ision context described in

CO!umn to indicate whether cach item is relevant or irrelevant to the dee
Case A and Case B.

. Case A Case B

Item . :
Relevant  Irrelevant Relevant Irrelevant

...................................................

a. Sales revenue

b. Direct materials

c. Direct labor ............. o S s s AT 0 P I IE ) ‘ S
¢ .

d. Variable manufacturing overhead..........cooevenvne
e. Depreciation;—Modcl B100 machine
£. Book value—Model B100 machine......... e, '
g. Disposal 'value——Model'BIOOImz‘éhine ......... o
h. Market value—Model B300 machine (cost)....
i F'i,xed' manufacthring d\;‘erhead (general) ........
j. Variable selling expen§é ................................. :

k. Fixed selling expense. .

1. General administrative overhead

Q7:-What is Mckinsey inodél, how they used in management accounting field (use your

readings

With best regards

’
'

Dr. Suhail Al Tamimi : | | ; < /,_\ .
: Head of Department .
Dr. Elham Al Shawe ‘
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Economic &Admlmstrative iI

' L = inal Exam
rSubject :Financlal Analysis: 4 @'\ PR L LR s - S liase : |
Time: 3 Hours el 3 74 sopandisgmast! / " Accounting Depansc_men |
: R 2023-2022 g L g
- Date20/5/2023 ' W\S : |
§O : ' - e

'» R . |
Q 1// Identifies the components of business analysis and the bus.lness envlronment and !

, strategy analysis |
Q 2// The adoption of fair value accountmg has signlflcant |mpI|cat|on for financial. .. |

statement analysis, what are thie advantages and dlsadvantages of fair value accounting
and issues that an analyst must. con5|der when analyzmg flnani:|a| statement prepared

"under fair value accoﬂnting :

Q3// Investment securities are broadly cIassn

explain this cIassification in detail.

Q4// The comparatlve balance sheet For Bergman company appear below.
L " PENNY COMPANY"

v ".,'}’: Comparatlve Balance Sheet

fied as elther debt or equrty securitles

Dec. 31, 2022 Dec.31,2021
Assets ‘ :
~ Cash . : Joy T ytisa ssz 000 . - $35,000
~ Accounts receivable | 85,000 53,000
Prepaid expenses X 19,000 25,000
Inventory el o 120,000 - . 132,000
Long -term investments it 90,000 75,000
Plant Assets ' ' 310,000 ' 250,000
Accumulated deprecration . . (65,000) (60,000)
Total Assets $641,000 $510,000
Accounts payable - . $93,000 $75,000
Accrued expenses payable 29,000 24,000
Bonds payable 130,000 160,000
Common stock. ./ 245,000 170,000
Retained earning 144,000 81,000

Total liabilities and stockholder's equity $641,000 $510,000

I
g
|
1
n
I
i
Liabilities and stockholder's Equity el
I
L
I
L
I
i



PENNY COMPANY
Income Statement e
For the year Ended December 31,2022

* Sales $490,000
Less: . | . _‘ " |
Cost of goods sold ‘ $ 290,000

~ ‘Operating expenses (excluding depreciation) = - 60,000

. Depreciation expenses ' : ' 17,000

‘Income taxes £ - 15,000

" Interest expenses , . 18,000

 Loss on sale of plant assets ~_3,000 _403,000

Netincome = TS e $ 87,000

ADDITIONAL INFORMATION:
1- New plant assets costing $ 85,000 were purchased for cash in 2022. |
2-'0ld plant assets costing $ 25,000 were sold for $10,000 cash when book value wa
13,000 RN ' . ' Tl ' -
3- Bonds with a face value of $ 30,000 were converted into $ 30,000 of common sto
4-Cash dividends of $24,000 were declared and paid during the year |
5- Accounts payable pertain to merchandise'purchases.
" Required: o : | : .
Prepare a statement of cash flows for the year ended December 31,2022 using the
method. RLR : O o ' »
Q 5//Return on invested capital one of the most relevant measures of company
performance, why ? and how do we use this measure in our analysis of financial

state'ment?'..

o, %ﬁ Good IUCk | %‘,
A.P.[ Efaham J. Hameed A.P, Fayhb4.A. Mahn

Head of Department o .  Lecturer
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University of Basrah
College of Administration &Economics
Department of Accounting
The final exam -Second Semester
PhD . Program
2022-2023

Sub.: Economic& Accounting Studies Date: / /2023 Time : 3 H.

Answer five questions from the following.
Q 1) Macroeconomic policies revolve around a set of indicators that govern the

performance of economic operations and thus monitor the movement of the
economy. This performance is done through two types of policies.
Required :
1- Review these indicators.
2- Discuss expansionary monetary policies.
Q 2) Economic stability in macroeconomic policies is considered one of the
significant issues in the application of monetary policy and stability in countries
. Discuss this in the light of your study of the following paragraphs:
1) Indicators of economic stability
2) Efficiency of Monetary policy tools to achieve economic stability under the
I1S-LM.
Q3) Economists have striven since the beginning of the first industrial
revolution to provide systematic explanations for the causes of growth, so very
diverse theories have been proposed.
Required :
1) Views of the Keynesian theory of economic growth

2) Views of the modern theory of growth .

Q4) There are some political factors that affect the taxpayer's tax
commitment and his behavior in paying the tax, which contribute to tax
Discuss the following <evasion

.1- The most important factors affecting the behavior of the taxpayer

2- Behavioral attitudes of taxpayers towards taxes and tax authorities,
and factors affecting taxpayer behavioral.



Q5 )Although both accounting income and taxable income are
prepared on accrual basis, there are significant differences
between the two incomes, including permanent ones. Discuss the
phrase in an accurate scientific manner.

Q6)With the use of international financial reporting standards as a
financial reporting standard, there will be a change in the financial
report and there may also be a change in the tax, especially for
multinational companies,

Required: Analyze the effect of adopting international financial

reporting standards on taxes.

With Wishes of Success

Prof. Dr .Nadwa Hilal Jowda Ass. P . Dr. Elham Al-Shawi
The lecturer Head of Department



University of Basra
College of Economic and
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Accounting Department

Final Examination SUB:A.L.S:
Stage : M.S.R
Date: [5/2023

Second course
First Attempt

Q/1:Discuss the following
Information can be provided to both Internal and External users .so
give the differences between
1- Mandatory information and discretionary information.
2- Relevant information and Reliable information (10 marks)

Q/2 give the differences between
1- Preventive control , Detective control and corrective control
2- Operational control, Management control and Strategic control. ( 10 marks)

Q//3The following documents are used in expenditure cycle:

Vendor invoice  ,Purchase order ,Disbursement voucher , Purchase requisition
,Packing slip , Receiving report , Check

Required

1- Identify which of these documents are internally generated and which are externally
generated

2- For each internally generated document, how many copies are needed? What is the
purpose of each copy? Where does each copy go .

3- Draw the standard documents follow (15mark)

Q/4 Al- Rasheed com. Has hired you to review its internal controls for the
purchase , receipt, storage, issuance of raw material .You observed the following

1- Raw material , which consist mainly of high- cost electronic components, are kept
in a locked storeroom . Storeroom personal include a supervisor and four clerks. All
are well trained , competent ,and adequately bonded .Raw materials are remove from
the storeroom only upon written or Orel authorization by a production supervisor.

2- No perpetual inventory records are kept; hence, the storeroom clerks do not keep
records for goods received or issued. To compensate ,the storeroom clerks perform a
physical



inventory count each month. The clerks supervised during this count, and other
appropriate procedures are followed.

3-After the physical count, the storeroom supervisor matches the quantities on hand
against a predetermined reorder level. If the count is below the reorder level, the
supervisor enters the part number on a material requisition list that is sent to the
accounts payable clerk. The accounts payable clerk prepares a purchase order for each
item on the list and mails it to the supplier from whom the part was last purchased.
4-The storeroom clerks receive the ordered materials upon their arrival . The clerks
count all items and verify that the count agree with the quantities on the bill of lading.
The bill of lading is then initialed, date, and filed in the storeroom to serve as a
receiving report.

Required :

1- Draw the follow documents

2- Describe the weaknesses that exist in Expenditure cycle.

3- Suggest control procedures to overcome the weaknesses (15mark)

Q/5 Discuss in detail Fraud ( concept, triangle of fraud , fraudulent financial reporting
and the Auditor responsibility to detect fraud) (10marks)

Q/6 Explain the meaning fourth of the following concepts.

1- Block chain 2- Cloud computing 3- data mining
4- Databases
5- The value of information. ( 10 marks)
Head of Dep. Letcher

Dr. Elham Jafer Hemmed Dr. Fatima jasim Mohammed



Final Course University of Basra

Subject: <
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Date: 11/5/2023 /=\ ccounting Dpt.,

Q1:- Give the justification to use SWAT technique in field of Management Accounting.

Q2:- What are the differences and similarities between Management controls systems,
Accounting controls systems?

Q3:- For budgeting systems, what are the points we need to focus?

Q4:- Can you give your opinion about the strategic role for management accounting
and what the main tools to enhance this mission or this role? (Use your readings)

Q5:- Novex Company keeps careful track of the time to complete customer orders.
During the most recent quarter, it recorded the following average times per order:

Days
Waittime............. 17.0
Inspection time. .. ..... 0.4
Processtime........... 2.0
Movetime........... . 0.6
Queuetime........... 5.0

Goods are shipped as soon as production is completed.

Required: 1. Compute the throughput (manufacturing cycle) time. 2. Compute the manufacturing cycle
efficiency (MCE). 3. What percentage of the production time is spent in non-value-added activities? 4.
Compute the delivery cycle time.

Q6:- Svahn, AB, is a Swedish manufacturer of sailing yachts. The company has
assembled the information shown below that pertains to two independent decision-
making contexts called Case A and Case B:

Case A: The Company chronically has no idle capacity and the old Model B100 machine is the
company’s constraint. Management is considering purchasing a Model B300 machine to use in
addition to the company’s present Model B100 machine. The old Model B100 machine will continue to
be used to capacity as before, with the new Model B300 machine being used to expand production.
This will increase the company’s production and sales. The increase in volume will be large enough to
require increases in fixed selling expenses and in general administrative overhead, but not in the fixed
manufacturing overhead.

Case B: The old Model B100 machine is not the company’s constraint, but management is considering
replacing it with a new Model B300 machine because of the potential savings in direct materials with
the new machine. The Model B100 machine would be sold. This change will have no effect on
production or sales, other than some savings in direct materials costs due to less waste.



Required: Copy the information below onto your answer sheet and place an X in the appropriate
column to indicate whether each item is relevant or irrelevant to the decision context described in

Case A and Case B.

Item

a. Salesrevenue .........oooiviiiiiiiie
b. Direct materials.............cooeviiiiiiiniiiiieienne.
C. Direct 1abor .......ocooiii
d. Variable manufacturing overhead....................

e. Depreciation—Model B100 machine ...............
f. Book value—Model B100 machine ..................
g. Disposal value—Model B100 machine ............

h. Market value—Model B300 machine (cost)....

i. Fixed manufacturing overhead (general) ........

j. Variable selling expense............cccooeevvvininnnn.n.

k. Fixed selling expense. .

|. General administrative overhead

Case A

Relevant

Irrelevant

Case B

Relevant Irrelevant

Q7:-What is Mckinsey model, how they used in management accounting field (use your

readings

With best regards

Lecturer

Dr. Suhail Al Tamimi

Head of Department

Dr. Elham Al Shawe
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second semester
2023-2022

Q 1// Identifies the components of business analysis and the business environment and
strategy analysis.
Q 2// The adoption of fair value accounting has significant implication for financial
statement analysis, what are the advantages and disadvantages of fair value accounting
and issues that an analyst must consider when analyzing financial statement prepared
under fair value accounting.
Q3// Investment securities are broadly classified as either debt or equity securities.
explain this classification in detail.
Q4// The comparative balance sheet For Bergman company appear below:
PENNY COMPANY
Comparative Balance Sheet

Dec. 31,2022 Dec.31,2021
Assets
Cash $ 82,000 $ 35,000
Accounts receivable 85,000 53,000
Prepaid expenses 19,000 25,000
Inventory 120,000 132,000
Long -term investments 90,000 75,000
Plant Assets 310,000 250,000
Accumulated depreciation (65,000) (60,000)
Total Assets $641,000 $510,000
Liabilities and stockholder's Equity

Accounts payable $93,000 $75,000
Accrued expenses payable 29,000 24,000
Bonds payable 130,000 160,000
Common stock 245,000 170,000
Retained earning 144,000 81,000
Total liabilities and stockholder's equity $641,000 $510,000



PENNY COMPANY
Income Statement
For the year Ended December 31,2022

Sales $ 490,000
Less:

Cost of goods sold $ 290,000

Operating expenses (excluding depreciation) 60,000

Depreciation expenses 17,000

Income taxes 15,000

Interest expenses 18,000

Loss on sale of plant assets 3,000 403,000
Net income $ 87,000

ADDITIONAL INFORMATION:

1- New plant assets costing $ 85,000 were purchased for cash in 2022.

2- Old plant assets costing $ 25,000 were sold for $10,000 cash when book value was $
13,000

3- Bonds with a face value of $ 30,000 were converted into $ 30,000 of common stock.
4-Cash dividends of $24,000 were declared and paid during the year

5- Accounts payable pertain to merchandise purchases.

Required:

Prepare a statement of cash flows for the year ended December 31,2022 using the direct
method.

Q 5//Return on invested capital one of the most relevant measures of company
performance, why ? and how do we use this measure in our analysis of financial
statement?.

Good luck

A.P.D.Elaham J. Hameed A.P. Fayhaa.A. Mahmmod
Head of Department Lecturer



